CSE 150 MatLab







 Spring 2005
Lab 3/28/2005

Quiz 2

Name:
Last 4 digits of your SSN: 

Part 1: Closed Book Questions (10 pts)
1.  Let A = [8, 4], B= [10, 3], what is the result of  (A.*B .^2 – 5)  ?  (2 pts) 

Answer:
[795, 31]
2.  A geometric series is defined as the sequence 1, x, x2, x3, … Write a function to calculate the first five elements of this series. (2 pts)
Answer:

function ser=ser(x)

for i = 0:4

    res(i+1) = x.^i

end
3.  What is the output of this program:  (2 pts)
k = 0;
for i = 1:2:10
     k = 2*i - 5

     if (k > 10)


break

     end

end
Answer:
-3, 1, 5, 9, 13
4. We have the formula, A = (x*y + 5)  / (y^2). We know that x is a vector and x = [1: 0.1: 4]. y is also a vector and y = 2*x. Please answer whether the following code to calculate A is correct. If it is not correct, please correct it. (2 pts)
x = [1: 0.1:4];

y = 2*x;

A = (x.*y + 5) / (y.^2);

Answer:

We should use element-by-element operations. 
x = [1: 0.1:4];

y = 2*x;

A = (x.*y + 5). / (y.^2);

5. Describe the two array functions and explain how to use them. (2 pts)
(a) cat(n, A, B, C, …)                          Assume A, B, C, … are arrays.

(b) [x, k] = min(A)


      Assume A is an array.
Answer:

Refer to text book page 77. 

Part 2: Programming  (15 pts)
1.  Suppose you invest in a mutual fund with fixed return of 8% a year. To simplify the problem, we assume there is no commission fee or any maintenance fee for that. Besides, all the capital gains will be immediately invested back into this mutual fund at the end of each year. Write a function to calculate your capital gain after a certain number of years. This function should accept two input parameters: initial investment and the number of years (you can assume that the number of years is an integer).

Name the function file as “mutual_fund.m” and electronically submit it.  (7pts)

Answer:
Look at the program “mutual_func.m” on the course web site.
2.  Solve problem 22on page 129 of your text book. You need not to plot the figure because we haven’t officially covered plotting yet, but you need to find the radius that results in the least cost when r is in [2, 10]. Name the file “tank.m” and electronically submit it. (8pts)

Answer:
Look at the program “tank.m” on the course web site. 

